
COMPETITIVES 
Interventions (1°Style, 2°Responses, 3°2/1, en 4e) 

Jump  = nat+ fit 

QB=fit,  

Jump fit=pre 

 

 

 Our 1NT overcall  

 en 2nd  15-17 (system on) 

 

En 4th :1SA10-13 ;  2NT=17-19 ;   (X+1NT=13-16)   

System on 

 

Passed hand : 

Jump overcalls   

2Y weak →    2NT and new suit F1 

2NT:  les 2 lowest suits 

12==;  34=+; 34= + 

2M4m=m+M’ ; 1M-2M4m= m+M’ 

1° CUE BIDS overcalls 

2suiters  ( except 12=) , 1M2M=+M’,1m3m=s+m’ 

 Bidding 4 playere: 1-12=+           1-12= nat  

4th seat:  1--2=+ 

1M3M ou 2M 3M: demande de SA 

Vs SA14-17   2° vs SA10-14  

 2nd seat: landy (2=Rel 2NT=F1); X=m5 +M4 

 2M= M + m; 2NT=+ 

1NT2(=1M)2SA→3=- 3=-,3=+, 3=+ 

 4th seat:  landy,       X = m5 +M4,  autres nat 

  2nd or 4th seat: landy,   X= points,  Xfers 

 Exception after  pass, x fers,   X=m+M,    autres nat 

Vs 2 weak   

lebensol 

2M4m= m+M’ 

 Bal :    2NT =14-16 

Vs strong  or strong   

X=values with Maj ; 1NT= minors (5-4 or better) 

 

 

SUR X D’APPEL ADVERSE 

Jump raise= PRE 

2NT Jordan(inverted in minors) 

 

 

LEADS AND SIGNALS 
OPENING LEADS STYLE 

 Leads In Partner’s Suit 

Suit 3rd  - 5th  3rd  - 5th 

NT 4th  (2nd if weak s) 3rd –5th 

Subsequent lead 3rd-5th ,   Att vs.nt  

Subsequent lead: 10 prometteur si D au mort (V&9 decourag) 

Other : lead directing DBL (if no bid suit asks for  lead) 

LEADS 

 Vs SUIT Vs NT 

Ace AK+  or A or A+  AK+, asks ATT 

King AK,AKx if singleton,  

or KQ or KQ+ 

AKHx+; asks CT(att) 

Queen QJ  or QJ+ KQ+  or QJ+ asks att 

Jack J10 or J10+ or Jx J10 or J10+   

10 109 or 109+ or 10+ 109 or 109+ or 10x 

9 9x or J98+ or Q98+ 9xx or 9x or J98+ 

   

High xXxx, Xx, Xxx , xXxx, Xx 

Low  HxX, xxX, HxXx HxxX, HxxXx, HXx 

SIGNALS IN ORDER OF PRIORITY 

 Partners 

Lead 

Declarers  

Leads 

Discards 

Suit :1st count count count 

2nd att S/P S/P 

3rd S/P if sglt   High E 

NT : 1st count count count 

2nd Att : high E S/P S/P 

3rd   High E 

Signals (Trumps) : S/P if singleton in dummy, udc in  

Trump suit, S/P if  presumed singleton in partner’s hand 

 Signals(NT):Smith echo, Att /A-Qlead or K if short’dummy  

DBLES 

TAKE OUT DBLES 

1Y - 1NT2ZX=TO 

1m - -1NTX=TO short m’;          

- - 1M-2 (drury)X=TO  M;  

1Y1Z – 2Y=TO / Z 
SPECIAL ARTIFICIAL AND COMPETITIVE  X & XX 

1-23X=pen, 1-23X TO, 

 support dble 
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SYSTEM SUMMARY 
GENERAL APPROACH & STYLE 

5 cards Major      

1NT=15-17 HCP      

1M-2SA : 10-15hcp 3 cards fit    1M-3M= 9-11 4 cards fit 

1M-3Y 6 cartes 9-11 

2/1 GF except 2NT  rebid  

2M weak 5-10HCP 

OPE: 2 233in  4th seat: nat 10-13HCP  6+ cards 

SPECIAL BIDS THAT MAY REQUIRE DEFENSE 

 

11X= 44MM(→1=3 cards ou mini 3433) 

 3NT : 1 belle mineure  

1-1-1NT : walsh  

1-1-2NT : walsh 

 

Chexk back stayman modified 

1-1NT-2NT GF→xfers 

1-1NT-2NT 17-18Hcp→ 

 

 
IMPORTANT NOTES THAT DON’T FIT ELSEWHERE 

1m-1M-2M-3m= ART GF trial bid 

1m-1M-2M-2SA*=GF asks shortness 

 1M - 2 M 4m=m+M’   



   

OPENING BID DESCRIPTION   
Opening Art Min  

cards 

Neg 

Dbl 
DESCRIPTION RESPONSES 

 

SUBSEQUENT AUCTION 
(& modification if overcall)  

PASSED HAND 

BIDDING 

1/  3 

 
4 Nat 11+HCP   2M Nat+support inv  Walsh ;1m1♥3♠=splinter   Jump= nat +fit 

 5+5 17+ possible  3 limite Modified check back stayman::   

1  3 4   2  GF          2M  Nat+support inv  Reverse Jordan,   

  3 et 3=nat 10-11 : 1m 1NT:2=  & 2z=Texas, 1M1S0A: Texas  

1  5 4 11+HCP 2NT (fit 3e) 10-15       3Y nat 10-11  1M2SA3R*                                         Jump= nat +fit 

  3M=  fit 4cards 9-11    Drury = fit 

1  5 4   X:2NT Jordan and 3NT  ; jump nat + support inv 2NT= fit 4e +sglton 

  3NT Splinters M’  Suit: 2NT=  fit 3 cards 10-14  →3♣* asks?  

1NT   4 15-17  Stayman   1NT22NT or 3(=♠+♥) → 3= or 3=(→3NT fcg) System on 

 5M, 6m, 54 possible 4 xfers;           1NT22C3 55 

 

smolen (except overcall);  

1NT3:Xfer and 3 (=5s+4h)                               1SA3:3♥=♠, 3♠=♥ 

 

  3 =HHxxxx    : system on or Xfers from 2NT(Rubensol)  

  4=, 4=65, 4=2155   

2 X 0 4 Semi fcg strong  2R 223M=64MM’, 2 2k3sa=1 min;  4 =55MM GF→texas System on  

  Or 55MM GF  If overcall from 2 to  4: X=5+H,  pass =discourag;   others  nat                  

2 

 

X 

 

 

  

0 

 

 

 

 GF ART 

Asks Aces 
 2, 21M Ace, 3m 1mAce 

3M or 3NT= 2 aces or Kqxxxx  

 

X 5+H, others :nat  

System on 

          

2M  6  Weak 5-10H 2NT  GF relay (excpt 3M rebid) 2NT→, 3Y values,3M mini,  3NT AKQxxx, 4y shortness  

      Jumps : nat + fit   

2NT    20-21 Stayman, Xfer(3M=fit)   

4=+., 

2SA33SA(=MM):4= ou 4 = or 4= encrg or 4=encrg; 

 

 

2NT  

 

smolen 

 

  

3 6     ,  

3M 6       

3SA X   1 good min 4 pass/ correct   

4Y  8(7)  Pre     

4SA X   Both minors    

BIDDING 2 Players                                                                                                                 BIDDING 4 Players                                                                             SLAM CONVENTIONS 

                                                                                                                               1m1M1NT2m=M’+M tolerance                                                               5KCBW 3041 ; forcing pass; cue-bid 

                                                                                                                 1NT2X:--=  ; 2=stopper noM; XX=&1+M                                                          overcall/BW: pass=E X=Odd 

1122/3NT=  fit + stopper ♣                                             1M2NT3=fitM invit+ / 3=M’strong /3M&3M’ NF                                                                   BW  specificK except nt 

                                                                                                                                                                                                                                                                3NT forcing relay 

1222/3NT=+stop/3=+/                                        1Y1NT2Y: neg dble & rubensol  1Y1NT2Z: pen X and nat                                                  fit   : 3R*→3NT=control 

 1m1M4m= 6/4 raise; 11NT22=+tolerance                                  11 - 3=fit 4 cartes 10 11 raise inv 

                                                                                                                                                                                               



 

 


